‘ x%=5x+6=(x—2)(x-3)




2. 8x%—10xy—12y? & AFEFHAS o, A4 AS 1 2H?

D x-vy @ x+2y ® 2x+ 4y

@ 4x -3y @4x+3y

8x% — 10xy — 12y% =2 (4)52 — Hxy — 6y2)
=2 (x—2y) (4x + 3y)




% 2a3b - 6a*b* O] Q1571 ofd

® 2 @ 24a%b
@ a-3b ® 2(a-3b)

2a3b — 6a*b* = 2a*b(a - 3b)




o o
= A=
o Fa, b, c & Fa+b+c 9 FE FSHAE?

o]-g5}o] 1112 - 1102 9] e Fat= A

1112 - 1102 = (111 + a)(111 - b) =

® 110 @ 221 @ 321 @ 421 (@)441

1112 - 110%2 = (111 4+ 110)(111 - 110) =221 x 1
. a=110, b =110, ¢ = 221
a-+b+c=441




5.

3ax? — 6ax — 9a &) A57} ofd A9

@ 3a @ x-3

@Sx—l ® a

@ x+1

3ax? — 6ax — 9a = 3a(x* — 2x - 3)
=3a(x-3)(x+1)




® ma+ mb—-m=m(a+b)

@) 6402 + 32ab + 4b* = (8a + 2b)?
® -4a® + 9b* = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x—-2)(x-3)

® 2x% = 5xy + 3y* = (x - 3y)(2x ~y)

B

@ ma+mb-m=m(a+b-1)
® —4a® + 9b* = —(2a + 3b)(2a — 3b)
@ x?-5x—6=(x—6)(x+1)
® 2x% - 5xy 4+ 3y? = (2x - 3y)(x - y)
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T oA 4x% -9, 207 - 5x+ 3 9] Qlg FolA FEY A4E A

4x% -9 = (2x + 3)(2x - 3)

2x2 —5x+3=(2x-3)(x—1)

FEQ Q152 AT ol A4 243, x— 10102 T
3x + 2 o]t




22+ Ax-3 9 35Tt x—3A uf, A 9 ZHe

sholat

2x2 + Ax—-3 = (x-3) (2x +a)
=2x>+ (a—6)x—3a
-3a=-3, .a=1
A=a—-6=-
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olo &2 4% +5x+6 = (x+ 2)(x + 3) O|E=E
#10] 2ol 217k x12, x+3 A Aol
wjebd Fhzet Aze A 1 ol




10.

Y27} 2a - 7, Wol7F 842 — 30a + 7 ¢l AALZHE o] |2 Ao

Fatelet.

Ch "
| — Y

>
> ®ehl 12a-16

i

8a? - 30a+7= (2
wpetba] Ee|o] Aol

a —
=

7) (da-1)
(2a-17) +

+ (4da-1

)}x2 = 12416 o]},




11.

(x+y)(x +y+2) - 3& QIR 5197

O (x+y+1)(x+y-3) @ (x+y-1(x+y-3)
@(x+y—1)(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-D(x+y-2)

~&B

x+y=Azel EOH,

AA+2)-3=A2+24-3
=(A-1)(A+3)
=(x+y-1)(x+y—+3)




12.

@ (x-y-1)(x+y+6) @ (x-y+1)(x-y-6)
@ (x+y+2)(x—y-13) @ (x-y-2)(x+y+3)
@ x-y-1)(x-y+6)

~&B

x—y=t2al g uf,

tt+5) -6=1+5-6
=(-1)(r+06)
=(@x-y-1)(x-y+6)




13. (x—2y)(x-2y-3)-10= AE3lstH
(x=2y+m)(x=2y+n) 4, mn 2] 2F-2?

©_10 @ 3 ® 10 @ 2

~&B

x—2y =12 o4,
H(t-3)-10=r2-3t-10
=(1-5)(r+2)
= (x—2y-5)(x -2y +2)
om=-5n=2

S.mn = —]_0




@0l Wol7t x? + 4x —y? — 4y ©]
o, o] HPAAF O] FolE

B, @] Pl x—y o
Foh?

@ x-2y+4 ® x+2y+2

® x+4y+2

X2 =y +4(x-y) =
= (x+y+4)(x-y)

(x+y)(x—y) +4(x-y)




15. ab-b-a+ 12 H2A ASFESH Z27

O @b+ @ @ro)b-1) Ga-1e-1)
@ (a+1)(b-1) ® (a-1)(b+1)

‘ ab-b-a+1=bla-1)-(a-1)=(a-1)(b-1)




16. 2 -9+ xy—3y & A5LEfs5}H?

@ (x+3)(x+3+y) @ (x+3)(x+3-y)
® (x-3)(x-3-1) @) (x-3)(x+3+)
® (x+3)(x=-3+y)

‘ (x+3)(x=3)+y(x-3)=(x-3)(x+3+y)




17. o2 5 x® —y? —2x+ 2y 9] Q2] ALY

® x-2 @ x+y @x—y

@ x+y+2 ® x-y+2

(x+y)(x-y)-2(x-y) = (x+y-2)(x~-y)




18. x®+5xy+2x—-5y-3 2 A-E3|5HH?

@© (x4 1)(x+5y+3)
® (x=1)(x+5y-3)

® (x+1)(x-5y-3)

@) (x-1)(x+5y+3)

x? 4+ 5xy+2x—5y—3
= x* + (5y + 2)x — (5y + 3)
= (x+5y+3)(x-1)




19. -y —x+5y-6=A(x+y-3) & o, A5 o7

O x+y+2 @ 3x-y+2 ® x-y+4
(@)x—y—i—Q ® x-3y+2

~&B

22—y —x+5y—6
=x*—x— (> -5y +6)
=x?—x-(y-3)(y-2)
={x+0-3)}{x-0-2)}
=@ +y-3)(x-y+2)
LA=x-y+2




20. a-b=12 2 W, a® — 8a+ b* + 8b — 2ab + 16 2] F& F5HH?

D 36 @64 ® 49 @ 16 ® 25

~&B

a® —8a+ b*> +8b —2ab + 16
=a?-2ab + b? + —-8a + 8b + 16
= (a-b)>-8(a-b) +16
=(a-b-4)?

=64




2a - b)® - (2a + b)?
=(2a-b+2a+b)(2a—b—2a-b)
= da x (—2b)

= —8ab




22. ThgL i -8l & A5 @ Zolrk, o uf, [ gref e A
A5 G FoHE?

Aoyt =2+ P+ - W

D 13 @15 ® 18 @ 20 ® 24

xt = 8Lyt = (x* +9?)(x* - 9%)
= (2% + 9y*)(x + 3y) (x - 3y)
~9+3+3=15




